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1. Forintegersmn,s >0Y% "€ €, T Cn is equal to
a0 b i G
il C.'Ci d TG
2. lim,_ . sinxis equal to
ao
b w«
¢ exists is finite and non -zero
d Does not exist
3. If x = a+b, y = an+bw’,z = an’+ bm, then xyz equals to where, o is the cube root of unity
a atb b a ’+b’
c a+h’ i a “+b’
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4. lim,,‘,m( )is equal to

a0 b 1

(c) /5 d 20
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6. lim, ‘*(z;zs) is equal to

a 0 b 1

"

dy,
- B equal to
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n 1___ 1
d --"[""** “+ 1#"1}“]

2% (x-1)m
—1)"n! 1 1
h 2 -.-""'I:lﬂ i vX- l}"]
! 1 1
¢ E[{x+1}"*‘ i \x—l}"*‘]
d -1)"n! 1 _ 1 ]
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8. Find the slope of the normal to the curve 4x’+6x’-5xy-8y’+9x+14 = 0 T the point -2,3.
a @@ b 11
9 2
{E] > d P

sin 3x%
=0 I ncos (2x%-x

9. lim, : is equal to

a0 b -6
(c) 1 (d)

2 :
10. fiﬂ cosxIn (E)du is equal to

a0 b #(—1+~2’5)

)
=
(C} 1 d E‘
i
11. lim,,,.m(—;-') is equal to
ao0 b 1

(¢) -1 de®

12; Je lﬂgﬂx dx equals to

a0 b2 ¢4 d -2
13. The quadrangle with the vertices A -3,5,6, B1, -5,7 ,C8, -3,-1and D4,7, -2isa
a square b rectangle

c parallelelogram d trapezoid
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14. |a| =/ b|=5 and the angle between a and b is j:', The area of the triangle constructed on the

vectors a-2b and 3a+2b is

15.

16.

17.

18.

a 560 b 50 2
50
c = d 100

In the triangle with vertices A1, -1,2, B5, -€,2 and CC(B -1 find the altituden= |BD |.

6bS b 10 ¢5 +vZ d 2

Vv
S W .
If —+—=—+-,thena,bandcarein
b-a b—¢ ac
a AP b HP
c GP d Bothbandc
Given lines
L G e T i
Lid™w %
L _x+1  y+1 __z-?.
20 " 2 -1
Find the distance between the given straight lines.
V21 21 12
2 2 b g s |t

Compute the shortest distance between the circle x*+y*-10x-14y-151 = 0 and the point -7,2.

a0 b1l c2 daA4a

19. On the ellipse El:n:2+25'4,~'2 = 225, find the point the distancefrom which to the our focus F; is four
times the distance to the other focus F,,

20. On the parabola y’ = 64x, find the point nearest to the straight line 4x+3y-14 = 0.

a 15463 ( (5.5

&7 ¢ B9

a -249 b 9,12

c -924 d 9 -24
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X y x+y
21. Thedeterminant| ¥ x+¥ X | isdivisible by
xX+y Xx y
a Xx-y b x Zy*4xy
c X Zxy+y’ d x Zxy+y’
22. The curve 5x*+12xy-22x-12y-19 =0 is
a ellipse b parabola

¢ hyypeola d parallel straight lines

23. The derivative of y =X* w.r.t. x s

a ¥ G+Inxm 2) 2 G+ Inxin 2]
t a2 G + In x) d 222 G + ::—;)
24, ]im:—§[” — 2x “*"is equal to

a0 b1l ce de 1

25, _ful xtan~! x dx is equal to

x x 1
d ; b ;'I'E
r 1 1
€ 372 d 2
/3 cos@
; |
26 _fu e dO equal to

a Jog(zm) 0 doe(imn)

" ilng(h:ﬁ) (« %Iug(sﬁz"'i)

xdx
27. | 1o is equals to

Aetx) Z2+x)
A2 b ERer
3 3 2+x)

— + ——
. 21+x C Z~N1+x

28. | a*dxis equal to
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+C b da'loga+C

rloga

ﬂ'" _I'ﬂt
(c) +C d +
loga loga

29, _I'L(tus px — singx)’ dx, where p and q are integers, is equal to
a -m b0
C = d2n

30. The solution of the differential equation x Z-y’dx + 2xy dy = 0, is
ax y’'=Cx bx y’=Cy

c x #y’'=Cx dx y’=Cy

Ay

31. The solution of the differential equatinn;‘:-& +3y=-2xis

. F A
a ¢ ;cosV3x+ csim/3x- :;Hz

—
X-

b ¢ ;cos\V3x+ c,sim\3

njs

p— +
¢ ¢ ;cos\V3x+ c,sim/3x- 2xz+;

. 2,4
d ¢ jcosV3x+ csim/3x- E"z+§

32. Angles A, B, C of a AABC are in AP and b:c =\/3+\/Z, then the ZA is given by

aa5° beo’
c75° d90”
33. The angle between the vectorsa =i + 2j + 2kand b =i - 2j + 2k is
a sin '1/9 b cos 7'8/9
¢ sin'(8/9 dd cos’(1p
34. The straightliner= i-j+k+ L 2i+j-k=4are
a perpendicular to each other
b parallel

¢ inclined at an angle 60 °
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d inclined at an angle 45 °

35. If two cards are drawn simultaneously from the same set, the probability that atleast one of them

will be the ace of hearts is

36. In a class there are 10 boys and 8 girls. When 3 students are selected at random, the probability

that 2 girls and 1 boy are 5elected is

35 15
a 0z P Tez
55 25
T d 102

37. If M and N are any two events, the probability that exactly one of them occurs is for an event set

A, the complement is A°
a PM+PN -2PM UN
b PM+PN -PM UN
c PM °+PN ° -2PM U N°

d PM UN’+PM °UN

38. If three squares are chosen an a chess hoard, the chance that they should be in a diagonal line is

T 5
a s B e
7 11
© s 9 74

39. LetA=(" 1), then
a A %+7A-5/=0 b A %7A+5/=0

c A %45A-7/=0 d A %5A+7/=0

dx
1+x+x%

a0.

is equal to

5 b m " 2T d B!
\3 23 33 33

41. A market research group conducted a survey of 1000 consumers and reported that 720 consumers

like product. A and 420 consumers like product B. Then, the least number of consumers that must
have liked both the products is

a 170 b 180 c 210 d 190
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42. The polar

number z = X =

Y

10

1 ir o 3#)
a _\E(fﬂ'i > + L 5In 2

f bx , g
b VZ(cos+ isin)

2 ( =1 lf)
c V2 c0512+ iatnu
d I( 5:+ [ si Sn)

Fleos + ising

form of complex
(-1

cos—+ isin = is
gv g

43. The equation of the plane passing through the points 2,2,1, 9,3,6 and perpendicular to the

plane 2x+6y+6z =1 is

a 2x-4y+5z-9=0 b 3x+4y -2-5=0

c 3x+4y -5z-9=0 d x+4y -9z2-3=0

44, The line of regression of y on x for the following data

Is given by
a Y+0.4x=1 b y+ 0.5x=5
¢ y+0.4x=7 d y+1.4x=7

45. The measure of the chord intercepted by circle x’+y’ = 9 and the line x-y+2 =0 is

a 28 b 2 V5
c 7 d 5
46. tan™ /3 -cot™ /3 equals to
a0 b2 V3 ¢ 5 d =

47. The sum of the deviations of the variates from the arithmetic mean is always

b 0

d real number
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48. A single letter is selected at random from the word “PROBABILITY”. The probability that itis a
vowel is

B 4
n b 3

2 3
T T
49. An object is observed from three points A,B and C in the same horizontal line passing through the

base of the object. The angle of elevatian at B is twice and at C thrice that at A. If AB = a, BC= b, then
the height of the object is

a =\(a+tb(3b-a

b f;J(a —~b) 3b -a)

i

— (-
o ztl'\"(ﬂ b 3b+a

a
d 5;\J(@+b 3b+a
50. The angle between the lines whose direction ratios are 1,1,2, ~3-1, V3-1,4is

a cos '1(]) 0o =
65 6

X
C 3 d

AR
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